MULTIPLICATION - Mental Maths Skills

http://www.learnersgrid.com

			Date:		Name	:						
Copy each equation below into your books and solve. Show all your working.												
[1]	557 >	×	3 =	[2]	673	×	7	=	[3]	691	×	8 =
[4]	112 >	×	4 =	[5]	333	×	8	=	[6]	358	×	6 =
[7]	922 >	×	44 =	[8]	652	×	62	2 =	[9]	214	×	16 =
[10]	835 >	×	25 =	[11]	644	×	37	7 =	[12]	688	×	43 =
[13]	57 ×	5	55 =	[14]	73	×	14	=	[15]	87	×	25 =
[16]	63 ×	1	14 =	[17]	42	×	45	=	[18]	53	×	82 =
[19]	120 >	×	349 =	[20]	279	×	35	52 =	[21]	441	×	370 =

[22] 211 × 341 = [23] 228 × 291 = [24] 270 × 256 =

ANSWERS MULTIPLICATION - Mental Maths Skills

http://www.learnersgrid.com

Copy each equation below into your books and solve. Show all your working.

[1]	557 × 3 = 1,671		673 × 7 = 4,711	[3]	691 × 8 = 5,528
	112 × 4 = 448	[5]	333 × 8 = 2,664	[6]	358 × 6 = 2,148
[7]	922 × 44 = 40,568		652 × 62 = 40,424	[9]	214 × 16 = 3,424
[10]	835 × 25 = 20,875		644 × 37 = 23,828		688 × 43 = 29,584
[13]	57 × 55 = 3,135		73 × 14 = 1,022		87 × 25 = 2,175
[16]	63 × 14 = 882		42 × 45 = 1,890		53 × 82 = 4,346
[19]	120 × 349 = 41,880		279 × 352 = 98,208		441 × 370 = 163,170
[22]	211 × 341 =	[23]	228 × 291 =	[24]	270 × 256 =

71,951

66,348

69,120